|=]= =Hcl
F=5 kB OH =
77
A=A 7.1
01, 32 02. e—(1/e)+ L 03 e—(1/e)+ X 04, L

3 3 6

9 32 2 2
05. 06. 72 07. e—2 08. <= 09. =+
10. In2 11. % 12. 2.80123 13. 0.25142
14. 36m 15. 84m> 16. 8868; 10 =oF ol7o] =7}
17. vV R*=r* +mr?/2— R? arcsin (r/ R) 18. +6
19. 4?3 20. f(t) =3t 21. 0<m<1;m—Inm—1
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04.

05.

06.

07.

10.

11.

12.

14.

15.

18.

21.

24.

26.

27.

29.

7/6; op” I:;

/2 08. 1087/5 09. 137/30

1 2 1 2 2
(a) 27r/ e ¥ dr ~ 3.75825 (b) 27rf (e ¥ +2¢ % )dx ~ 13.14312
0 0

2 1
(a) 27r/ 8V1—2?/4dx ~ 78.95684  (b) 27r/ 8Vd—4y’ dy ~ 78.95684
0 0

0. 0.747: 0.132 13. 18—17r2
(a) 99 0<y<cosz, 0 <z <n/25 x50 Tisto] FJRAIAH A A
(b) Y y' <2<y’ 0<y<12 y&0] tisto] JRAAH L U
1110 cm® 16. %mﬂh 17. #h? (r—%h)
%th 19. 10em? 20. 24
V3 1
5 22. 3 23. 2
% 25 Aj2F
(a) 87TR/ Vit =yt dy (b) 27*r*R
0
(b) 7r?h 28 iwr?’
" 12

Sfr VR* = Vit =y dy
0



AEY =27z, =ol=x(z—1)%; 7/15

02. 67/7 03. n(1—1/e) 04. 8r 05. 47 06. 7687/7
07. 167/3 08. 77/15 09. 87/3 10. 57/14

2
11. (a) 27r/ e "de  (b) 4.06300
0

/2
12. (a) 47r/ (r—z)cos*zdz (b) 46.50942

—7/2
13. (a) / 21(4—y)Vsiny dy (b) 36.57476 14. 1.142
0
15. 99 0 <y <z’ 0<z<32 y=o dsto] 3HAA A UA|
16. A (i) e=1—¢*, =0, y=0 E= (i) =9 2=1, y=02 AXM y=30] ¢
sto] HA|A A2 UA]
17. 8x 18. 4+/3x 19. 47/3 20. %71‘7"3
21. 2’ Ry 22. %mzh 23. Ayt
ASEA 74
01. 3,/10 02. 3.8202 03. 3.6095 04, 2?1—3(82 J82—-1) 05, %
06. % 07. n(vZ+1)  08. %+%ln2 09. 1n3—% 10. 10.0556
11. 15.49805; 15.374568 12. 7.094570; 7.118819 13. In3— =

2

¥

14, \/ 6 15. s(z) = — [(1+92)"* — 10 /10 |

27

16. 2v2 (V14+z —1) 17. 209.1m 18. 62.55cm



ASEA 7.5
/3 /3
01. (a) (i) / 2 tanx V1+seciz dz (i) / 21z V1+sectz dx
0 0
(b) (i) 10.5017  (ii) 7.9353

2 1 2
02. / ome Vi+dzle ™ dx (i) f 2rx V1+4zle ¥ da
0

(b) (i) 11.0753  (ii) 3.9603

03. %w(145\/145 —1) 04. 9—;77 05. 2vV1+72+(2/7)In (m+ V1+7)
06. %w 07. %w 1454/145 —10+/10 08. ma’
1 1 5 56 2
09. Ew[ln(\/10+3)+3\/10] 10. (a) 5w’ (b) =mV3a
9 a’bsin” ' (Va2 —b*/a) 9 2mab’ a+ Va:—bv
11. (a) 27 |b" + (b) 2 + In
/az_bQ /a2_b2 b
b
12. 47’ Ry 13. / orle— f)] VIt @ dz
14. =~ 80.6095 15. 4x*? 16. Aj=F
ASEA 7.6
15 25
01. 4.5ft-1b 02. 180J 03. —= ftlb 04. (a) o= L04) (b) 10.8 cm
1875
05. 8cm 06. (a) 625ft-1b  (b) — b 07. 650000 ft-1h
08. 3857] 09. 2450] 10. (a) =1.06x10°] (b) 2.0m
11. A2t
12. =~ 8.50x10%] 13. (a) GmlmQ(%— %) (b) =8.50x10°]
14. 62.5ft:1b 15. V2GM/R 16. 60001b
17. 6.7x10'N 18. 9.8 X 10°N 19. 5.27x10°N
20. (a) 4.9x<10*'N (b) = 4.4x10°N (c) = 42x10°N (d) =~ 3.9x10°N
2 2 1 e+1
21. 41481b 22. 10; 14; (1.4, 1) 23. (g, 3) 24. (6_1 : T)
9 9 72— 4 1 8
25. (—, —) 26. , ) 27. 60; 160; (—, 1)
20° 20 4(v2-1)" 4(vV2-1) 3
1 5 1
A2k -
25 42 o [1.7] 0. 0. L]
31. Lon 32, Ak

3



x2+%x4+ C

1

2

t2+tant+ 25

1o
03. oY —cosy
06. u=

2249

V3z+3Inlzl+ K
05. y
08. yzegcz/2

02. y
\/§ sinz—a
09. (a) sin 'y =2*+C

Kets/?’*t -1
4a

=Kz

=A 7.7

0l. y
04. p
07. y
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22. P(40) = 732, P(80) = 985; t = 55
Yo ~
23. (a) dy/dz=ky(1—y) (b) y= - (c) 2% 3] 368
y0+(1—y0)6 a N
24. A=F 25. (a) 15¢ /"kg  (b) 15¢ °? =~ 12.3kg
26. °F 4.9% 27. g/k
28. (a) dA/dt=kA (M— A)
Ce\/ﬁkt_l 2 \/M'i_ VAO
b) At)=M|——=—— |, d7]] ¢ =——Y—L0]1 A, = A(0)o]C}.
(b) A(t) (Ce‘/M'”+1 o 7] A W—\/TOIL 0 (0)o]ct
7 B5wA
A=Al
8 7 64 1656
4 21372 n/3 s 1
05. gvr(Qah—i-h ) 06. 2w (w/2—x)|cos T dzx
—7/3
07. (a) 2x/15 (b) /6 (c) 8x/15 08. (a) 0.38 (b) 0.87
09. ¥ Oéyé cosz, 0 <z < /22 y&o sty FJAAAH A& UA|
10. 9 0<z <7 0<y<2—sinzs =50 4ste] IJAAFA I UF|
125 3 15 21 41
11. 36 12. ==V3m 13. 5 4. (@) {5 (b) 57
15. 3.8202 16. 14.4260 17, 124 18. &98877 19. 3.2]
20. (a) 80007/3 ~ 8378 ft-1b  (b) 2.1 ft 21. 6533N 22. (% 1)
23. 27’ 25. r(t)=5e "1

24. y==+ VIn (z> +22°° + O)

(b) =00 thal AAC] B y=xz; C=0°] ol A 2* —y’ =—C



